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YO LEER

YO HUIR

YO MORIR

TU HUIR

YO PEDIR

YO SENTIR

TU DECIR

USTED HUIR

YO CONCLUIR

YO ALMORZAR

USTED DECIR

USTEDES LEER
USTED SENTIR
VOSOTROS LEER
VOSOTROS OIR

Spanish 2 - Irregular preterite:
Stem J, e --&gt; 1, 1 --&qt; y, 0
--&Qt; u, -zar verbs
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YO OIR

YO CAER

YO CREER

TU LEER

TU CAER

TU REIR

USTED OIR
USTED CAER
USTED CREER
USTED MORIR
USTED PEDIR

TU SENTIRSE
USTEDES HUIR
USTEDES TRAER
NOSOTROS LEER
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YO CAER

YO REIR

TU OIR

YO DECIR

TU CREER

YO DORMIR
USTED LEER
YO PRODUCIR
USTED TRAER
USTED REIR
YO DESTRUIR
TU ALMORZAR
USTED DORMIR
NOSOTROS OIR
USTEDES MORIR
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NOSOTROS HUIR



USTEDES REIR



USTED CONDUCIR
NOSOTROS MORIR VOSOTROS CREER USTED COMENZAR
USTED SENTIRSE VOSOTROS SENTIR NOSOTROS DORMIR
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